Math 2431 – 100
Summer 2012 – Test 3 – Part I
NO electronic devices may be used during the test. Show all work in Blue Book. Please label work.

Answers without any work or explanation may receive only partial credit or no credit at all.

All questions are 11 points each.

1. Find the interval(s) on which 
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 is decreasing.
2. Find the location(s) of inflection points of 
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 on [0, 2π).
3. Evaluate:
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4. Evaluate: 
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5. Evaluate: 
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6. Find the global (absolute) extrema of 
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 on [1 ,9].
7. Find the local (relative) extrema of 
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Math2431 – 100
Summer 2012 – Test 3 – Part II

NAME ____________________________________________________________

Show all work. Please show your work and answers clearly.

Answers without any work or explanation may receive only partial credit or no credit at all.

TI83/84/86/89 and Mathematica may be used by you to assist you with the work.
You may print the Mathematica code as part of your work. Please label with (* name *).
8. Use Newton’s Method to estimate (to 6 decimal places) the solution to 
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9. A 15 foot ladder is resting against the wall. The bottom is initially 10 feet away from the wall and is being pushed towards the wall at a rate of 
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 ft/sec. How fast is the top of the ladder moving up the wall 
12 seconds after we start pushing?
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